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	[image: image1.png]8. A number pattern is given below.

15t term: 22— 02
ond term: 3212
3 term: 4% - 22

(a) Write down a similar expression for the 4% term.

(b) Hence or otherwise find the 7" term in its simplest form.
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	Ans
	(a)  52 – 32       (b)  4n
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	[image: image2.png]In the sequence above, each term after the first two terms is the sum of
the previous two terms.
For example: 3rd term= 5= 7+ (-2)
(a) A sequence follows the above rule.
The first term is x and the second term is y.
The fifth term is 5.
X, ¥y, - = 5
Show that 2x + 3y =5

() Using the same x and y, another sequence follows the above rule.
The first term is y and the second term is x.
The sixth term is 17.
y, x, - - - 17

Write down another equation in x and y.

(¢) Find the values of x and y.
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	[image: image3.png](a) Istterm x
2nd term y
3rd term x+y
4th term x + 2y
5thterm 2x+3y =35

(b) 3y +5x=17
(C) x = 4’ y =_1
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	[image: image4.png]11. Using the sequence
1, 3,5 7, 9,....
(a) Find S;, the sum of the first 3 numbers.
(b) Find S,, the sum of the first # numbers.

() Hence or otherwise, find the (n + 1)™ term of the sequence.
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	[image: image5.png]. (@) 9
(b)) n?
(¢c) 2n + 1
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	[image: image6.png]11. (a) Solve the equation
2" = 32.
(b) A sequence of numbers can be grouped and added together as shown.

The sum of 2 numbers: 1+2) = 4-1
The sum of 3 numbers: 1+2+4) 8—-1
The sum of 4 numbers: (1 +2+4+8) 16 -1

Find a similar expression for the sum of 5 numbers.

(¢) Find a formula for the sum of the first n numbers of this sequence.
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	[image: image7.png](@) n=35
b)) 1+2+4+8+16)=32-1
(¢) 2"-1
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	[image: image8.png]9. A number pattern is shown below.

P+1=1+1)1%*=-1+1)
22+1=2+1Q*-2+1)
PF+1=3+1)3>-3+1)

(a) Write down a similar expression for 7° + 1.
(b) Hence write down an expression for n+1.

(¢) Hence find an expression for 8p° + 1.
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	[image: image9.png](@ T+ ((7*-7+1)
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(c) @p+1)(@4p°-2p+1)
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The first odd number can be expressed as 1 = 1% — 0%
The second odd number can be expressed as 3 = 22— 12,

The third odd number can be expressed as 5 = 3% — 22,
(@) Express the fourth odd number in this form.
() Express the number 19 in this form.

(c) Write down a formula for the n™ odd number and simplify this
expression.
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	Ans
	(a)  7 = 42 – 32       (b) 19 = 102 – 92    (c) nth odd num = n2 – ( n – 1)2  = 2n – 1









